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(*) Instructions to candidates:
1) Figures to the right indicate full marks.
2) Use of scientific calculator is allowed
3) Use suitable data where ever required
4) Write correct syntax while writing program
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Sclect the correct option for following questions
i, Aprogram________ and a processor is [2] Co1

(A) is a sequence of instructions , is a device that performs a
sequence of operations specified by instructions in memory

(B) is the device where information is stored , is a sequence of
instructions

(C) is a device that performs a sequence of operations specified by
instructions in memory, is the device where information is
stored

(D) none of the above -

ii. What is the output of the following C code? (2] Co1
#include <stdio.h> '
int main()

!

1
for (int i=0;i<10;i++)
¢ .

printf("1\n");

while (i< 8)

{ .
i++;
printf{("2\n");

}

} return 0;}
(A) 1 isprinted 10 times,2 8 times and then 1 4 times
(B) 1 is printed 2 times, 2 8 times and then 1 4 times
(C) 1is printed 1 times, 2 8 times and then 1 1 times
(D) 1 is printed 1 times, 2 8 times and then 1 8 times

iii. What does #include<stdio.h> does in C language? 2] COl

(A) It includes stdio.h into existing C program.
(B) #include increases the size of C program by including
(C) the specified file contents like functions, constants
(D) #include includes specified file before compilation.
(E) All of the above
iv. What will be the output of following C code? (2] col
#include <stdio.h>
int main()

int a=4;

switch(a)

{

case 1: printf("One ");

case 2: printf("Two ");

case 3: printf("Three "); break;

default: printf("Four ");break; } return O }
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vii.,

viii,

A)
(B)
(€)
(D)

(A)
(B)

(©€)

(A) One

(B) One Two

(C) Two Three Four .
(D) Four ;
Cisa programming language.

(A) Object Oriented

(B) Procedural Oriented
(C) Imperative

(D) Functional

What will be the output of following C code?

#include <stdio.h>
int main()

inti=0,j=0;
for (i; i< 2; i++)

for (j = 0; j < 3; j--)

printf'(ll 1 ll);
break;

printf(llz (l);

printf("after loop"); return O;

(A) 1 will print infinite time

. (B} 1 after loop -

(C) 121 2 after loop
(D) compile time error

What will be the output of following C code?
#include <stdio.h>
void sum() {
inta=235;
int result = a-- + a++ + --a + ++a + ++a;
printf("%d", result);

int main()
sum();
return 0;
}
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What will be the output of following C code?
#include <stdio.h>
int main()

{
double k = 0;
for (k = 0.0; k < 4.0; k++)

if(k==2.0}
{ printf("Hi ");
continue; }
printf("Hello ");
} return O;

)
Hello Hello Hi
Hello
Hi

(D) Hello Hello Hi Hello
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(D)
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(A)
(B)

(D)

A)
(B)

D)
xiii.

objectisapartof _______ class.

iostream, cout
cout, cin
istream, cin
cout, ostream’

What is the output of the following C++ program?

#include <iostreams>
using namespace std;
int main()

int m=4;

m=++m + ++m;

cout<<"value of m is : "<< m;

int n=4 ;

n = n++ + ntdg

cout<<", value of n is : "<< n<<endl;
return 0;

valucofmis: 10, valucofnis: 8
valucof m is : 10, valuc of nis : 10
valueofmis: 9, valueofnis: 12
valueof mis: 12, valueof nis : 9

What will be the output of following C++ code?

#include <iostream>
using namespace std;
int a=10;

int main()

int a =20;
cout<<ax<<::a;

syntax error
1020
2010
2020

What will be the output of following C++ code?
#include <iostream>
using namespace std;
void play(int x,int y)
void play(int x,int y)
{ .
int z;
z=xty;
cout<<"Result is :"<<z;

int mainy()
{
int x,y;
x=4; y=3;
play(x,y);
return 0;
}
7
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compile time error
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What will be the output of following C++ code?
#include <iostream> .
using namespace std;
int main()

int arr[] = {4, 5, 6, 7}
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(2]

(2]
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Q.2

Q:3

(a)
(B)
(©)
(D)

(A)

int *p = (arr + 1);
cout << arr;
return O;

}

5’

4

address of arr
7

What will be the output of following C++ code?
#include <iostream>
using namespace std;
int fun(int x, inty)
.
int z;
x = 20;
y=10;
return x+y;

int main()
[

1 .
int x = 10;
fun (%, x);

cout << x;
return O;

}

Compiled Time Error
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If ptr is an float Vpointer with a value 1000, then what
will the value of ptr + 5 if compiler is 32 bit?

1020
1005
1004
1010

(2]

(2]

co2

Cco2

Solve any three out of four

a)
b)
c)

d)

Distinguish between procedure oriented programming and
object oriented programming?

What is the need of constructor? How it is different from the
member function?

How memory is allocated to an object? Explain with an
example

Write C++ program using class object and function to find

factorial of the number.

(5]
(5]
5]
5]

Co3 .
'CO3

CcOo3

Co3

> An » C

Solve any three out of four

a)
b)
c)

d)

Write a C++ program to overload area() function to calculate
area of shapes like triangle, circle using function overloading.
Define and List types of Inheritance? Demonstrate Single
inheritance with the help of suitable example. A
What is Virtual function in C++? Explain the concept of virtual
function with an example and list the rules associated with it
Explain what is an inline function with an example? What are
the advantages of inline function?
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